Installation Guide
AC-AP-4612

Infinite
Mounting
Possibilities

ATDEC

Utility Panel 465x120

= /y =)
I

TR
RARIRAR
IRISIRERY

=\
/Q/I/%

NS,
IRNIAENIVESENY
% Qﬁ%/ Sl %
RN
o
Q SR Q Q
ARSIV
IRIRIRY
y%y/ly%y/y
SRR

Q"-

COMPONENT CHECKLIST

©

o
a Mﬂwﬂaﬂw
ﬁa aﬂaﬁ@
RS

(Y

SR

4
o O
O Z
| o oV.w T
QX -
x
[0) = @
=R I 53
3¢ 5 2N
m Am TR
x . S o°
wW\/
@9 ozis
sav
©
WJ..L\}
d —
[0]
&
20
aﬂzﬂ@wﬂw £c

! Please ensure this product is installed as per these installation instructions.
I The manufacturer accepts no responsibility for incorrect installation.
I This product is compatible with Atdec ADB Rails and Uprights, as well as AD-TVC-20, 45, 70A and 75 AV Carts.

I This product is not suitable for outdoor use.

IMPORTANT INFORMATION

AC-AP-4612 Page 1 of 3



1. Mount components to Panel

1.1. It may be useful to mount components to Utility Panel A 1.2. Alternatively, hook and loop straps and cable ties
before attaching the panel to a rail, upright or cart. can also be used to mount components to Utility Panel A
To do so, align the mounting holes on the components to (sold seperately).

the pattern on Utility Panel A and secure with fasteners as
specified by the component manufacturer.

Washers are also recommended

I
[

Zﬁ
20
&0
A
20
°g ﬁ@
ae>o
) 4
0 =f

J
[
J

AZ
§<0
0%
B
020
%z

PEIAIAZS
2z
2

o @
o o AN NI o ==
o0 ocp2® & % Q
© @ ® © © © ll
ol N o @ @
0 © To
Q) Q § © © © (@)
S © L & N )
o = — = d
o — &= S
Q3T
TIP: Consider if components or fasteners may
interfere with the rail, upright or cart.
2. ADB Rails / Uprights
2.1. Loosely pre-install Rectangular 2.2, Orient Rectangular Nuts B 2.3. Tighten M6x10 Screws C
Nuts B to locations on Utility Panel as illustrated below for Rails and to secure the panel.
A that align with the rail or upright Uprights and slide them into the
channels using M6x10 Screws C. relevant channel.
@\\ ‘x\\ .
) | 1 % 2
B.. [l i)
R T e i
TEERE s SIS
B |, g sy N
el | (%) S RAIL S
B v i el
gg%%ﬁ%%g Sy @ (o] | R
i S v x eI
E islRie gk
IS B Ll
Ugégﬂﬂméﬁﬂ %’jy g’ S 05 @ij% 20
sl 2 ST (ShRUs]
e : CnT ISy
B 52 =g 2HRV(2
ah e ) | sl ISt
;R\ Sl 125020
O Ry 03 1295053020
v AR 5 IS20502)
(RN [32I8:2]
M§@§U§mku % &ﬂ@ N
b P TS
(RN X Pl
S =] Wl
%§%§H§F§H TIP: Consider if §§9% §M§ §§
%EE%‘H%%%H Utility Panel needs Iy X §§ §?§ §§
h§ & - )
ﬂ§‘°§ﬂ§m§ﬂ o to k_)e installed _ IR §§ §§ &\Q
@%&@%mﬂ during ADB solution m&« %% %%% &%
%§@§H§M§H assembly to prevent N %R\Q §§ §§M
NOTE: lllustrated SN | inteference with Rail N *§Q§§ §§ §§ﬂ
screw locations are N Joiners, Extenders § %&&g ?@N §§
for example only. and Display Brackets % §§M% §M§ %iﬁi
SIS NP

AC-AP-4612 Page 2 of 3



3. AD-TVC-70A

3.1. Loosely pre-install Rectangular
Nuts B to suitable locations on Utility
Panel A using M6x10 Screws C.

)
\

N osauv
e
=7

e e e e e Y Y]

7
72
T

©

- WAL EAC T
T
VAP
TR

Dec—c—o
202205 Il

o

=X

VA AL,

W T

3.2. Orient Rectangular Nuts B
vertically and slide into the rear
channel of the upper column.

NIy
e
SElE
E’n§ﬂ§m§m

3.3. Tighten M6x10 Screws C
to secure the panel.

4. AD-TVC-45 / AD-TVC-75

4.1. With assistance, support the Display Rail and remove the
cap screws from the mounting brace on the rear of the cart.

WARNING: Remove display before attempting installation.

Panel A.

4.2, Align the holes on Utility Panel A with the holes on
the mounting brace and reinstall the screws through Utility

W\
=V

=
)
=Y

SE

/

5. AD-TVC-20

5.1. Align the holes on
Utility Panel A over the
two M6 screw holes on the
rear of the cart column.

Use the supplied 2x M6x10
Screws C to fasten the
panel to the cart column.

ATDEC

No portion of this document or any artwork contained herein should be reproduced in any way without
the express written consent of Atdec Pty Ltd. Due to continuing product development, the manufacturer
reserves the right to alter specifications without notice. ©20230406

Please Recycle "c"

AC-AP-4612 Page 3 of 3




